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Ql.
Choose the correct option for follorving guestions. All the Questions a.e
comDulsory and carry eqaal rn4rks

1 8051 series has how__m3_QylS Er! legisters?
OptionA: 0

Ootion B: I
Ootion C: L

Option D: J

2. tn 805i, after RETI instruction is execrrted then the pointer will move to which
location in the proora[r?

OptionA: next intemrpt of the interrupt vector table
Cntion B: immediate next instruction where interrupt is cccurred
Option C: next instruction after the RETI in the irremory
Option D: none of the mentioned

ln 8051. the DAA qomrnand adds 6 to ihe nihrble if:
Option A: CY and,tC are necessarda!
Option B: either CY or AC is I
Ontion C: no relation w'ith CY orAC
Option D: CYis I

1. Which of the followirlg_EglElqI5_ql!851 are not bit addressabte?
OptionA: SCON
OptionB: PCON
C-)otirrn C: 4-
Option D: PSW

5. What is the functiqn of the TrvlOD register?
Option A: TMOD re.qister is used to set various operation ryodes of timer/counter
Option B: TMOD register is used to load the counl of the tirner
Option C: Is the destination or the final reqistcr whcre the result is obtained after the operation ol

the timer
Oution I): Is used to interrupt fhe timer

o. What does T, D, l\il, I stantlor in ARMTTDMI?
Orrlinn ,A' Timer, Debug, Multiplex" ICE
Option B. Thumb, Debug, Multiplier. ICE
Ootion C: Timer Debug. Modulation. lS
Option D: Thumb. Debus. Multiplier ICE

7. The address space in ARtu1 is ?
Option A: 2"8
Option B: 2"16
Option C: 2^32
Or-rlinrr D' 2"61

8 lnstruction used tc muliipll; il5 *cntents by R4 and to store the result int* ,e6
is

Option A: MUL R6, R5, LSL#2
Oution B: MLl- R6. R5, R4
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Option C: MUL R6. R5. LSR #2
Option D: None of the above

9. lf the initlal register contents of R0, Ri and R2 were
R0= 0x00000000
R1= 0x02040608
R2= 0x10305070
Assume R0 is the result register, after one of the operations berow was
performed on R1 and R2, which has been modified to R0 = 0x1234s67g
What was the operation per-formed on the contents of R2 and R1?
ANDOptionA:

OptionB: t_rt(K
Option C: BIC
Option D: MUL

10. Evak:ate the following statements :

l. R13 is traditioirally used as the stack pointer and stores the head of
the stack in the current processor mode.

Il. R14 is the link register where
executing a subroutine.

the core puts the return address on

lll. R15 is the program corrnter and contains theaddress of the next
insiruction to be fetched.

Or'tionA: All the ontir,ns are

Option B: I and Il are true
Option C: II

I aird III are trueon D:

Q2" Soive any Four out of Six

-

5 marks each
A
B List the features ofARMT.
C List and explain all addressins modes of gOs t

D

State the validiry of lcllcwing

l) Mov R2, R3

3) MOV DPTR, #3333H

s) cMPR0. Rl, LSL #04

instruction, if not valiC why?

2) PUSHA

4) MoVA, @R3

E

-bxplarn tlre lollolvins ARMT

1. RSC RO

2. MLARO
3. ADDCCRO
4. S]RB RO

5. MOV RO

tnstructions:

F Dritdrenhate benveen RISC and CISC design.

64A 6u\ B640i r\4,\ (r( . 8.18000E 1 337 228568

2 i Fagr



Solve any Two euestion, ouiofThil l0 marks each'Write 
a program for g05i to transfer message ..MADRA$-@

-L-Ag$mg suitable ooeratins fre.r, 
"r.,"r,-Suppose a LED is interfaced

3li::::, t'^?TiT to btink this LED with certai, d.lr). sofrware

W'rite a program to generate u ,".tung.rl

fj*:: a display de'ice .o*..t.J on pl.l. Assume ,;t bt" crysrat

Q4. !oty".uny froo e,,
Explain 

^O
A
B

Explain lhe implementation 
d_storeinstructions.

C
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